

FUNCIÓN LINEAL

FUNCIÓN → $y = -3x + 7$

TABULACIÓN

x	y
-3	16
-2	
-1	
0	
1	
2	
3	

SUSTITUCIÓN

$$y = -3x + 7; x = -3$$

$$y = -3(-3) + 7$$

$$y = 9 + 7$$

$$y = 16$$

$$y = -3x + 7; x = -2$$

$$y = -3(\quad) + 7$$

$$y =$$

$$y =$$

$$y = -3x + 7; x = -1$$

$$y = -3(\quad) + 7$$

$$y =$$

$$y =$$

$$y = -3x + 7; x = 0$$

$$y = -3(\quad) + 7$$

$$y =$$

$$y =$$

$$y = -3x + 7; x = 1$$

$$y = -3(\quad) + 7$$

$$y =$$

$$y =$$

$$y = -3x + 7; x = 2$$

$$y = -3(\quad) + 7$$

$$y =$$

$$y =$$

$$y = -3x + 7; x = 3$$

$$y = -3(\quad) + 7$$

$$y =$$

$$y =$$

Grafica

Ubica los círculos según el color de la coordenada en el plano cartesiano

